dl. 31/0£/201 ¥+l A% AUAGHTAT - 2014 ylau-
21943] yal Y= (51654¢ 241742 4) - ardlv 1 06/09/2014

12.

13.

[deuar -1
YU AFA Ul o HaU 42 2udg &9 ?
aaled : 20°1° &l24°7° Grr 2«89 43
@URdnll [G12415 d2ls sio xlaviy 69 7
YU, : HIEIR dCAMAUY YSY

usisllell G Y2511 Aalnyell YdH HIZ1 41AL $HHE USAl.

YU : MIRd el Ut [Aesl, ysiegngl, ysisl]

ELEIAUSH 51015 Al Haq-uR yay HlSal sig ?

yaue : eldst ushl

y=udl aldeudl Auay qalds onuasll’ -u dvis sia e ?
yalol : HaulHla

RTI 4 ofle Afla-l ananaicr sedl ¢ ?

walo : 90 [eau

222 ol wis -l uay wlSe Ay als si-) ag-u au & ?
e : #34d]l Mz

YRud A% AAeiL g usilAd ag s 5469 ?
ol : ugld

Ay 2013 1l YUY Y2512 AlSed 2 [Aa9 Wi Yyxiadl s [Axla-d a9 ?

WA, : dHIH 25 28 HAUWA

2l dly uldal [Sau [Rairwr [aw ¥ied :

FAUY, : AHIH 25 28 HAUWA

201201 1430w Wint 121 5171 Al $R-11R 20129 5181 Sl ?

YU : U8

2015 -t QuHi s&Aal s a0 dlond ?

yae : ulds

19 SO 241RAYS5IT WS SIHL 215l
1. Raseau P. UGU95R AlHYRU
2. #lld Q. 2Ades: A
3. eU R. 4o Ozl
4. 2s S. wuds2 ‘el

T. U4 e

¥qu6:1-Q, 2-T,3-P, 4-S
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14, silds1d] da sl 2] aleciie sy qA 2y &9 ?
oo : [ARdl uHl 4H
15. Ul “sic’ § Gu-uH 2unIR 518 Sl ?
ol : Adgua 210U
16. 2 [ SIS1512 HALAUR ‘Solen’ 101 au-itell S ¢ ?
yaoL : AL
17.  *uRdly yliw sic-u dadHim yuu ~uayld sia e ?
A : duime As @ wadu
18. ‘R vl d 229 [Brgeat sHRL..... - ollau slA sia &9 ?
wal : 544
19.  2ucel malds o sy 25 oy Yol ad €9 dl 21 4401 40 g qrudl ?
el : 2%d Ay Gyagll
20. 24y Hsadl 2is o [Asaion ouasl w1 24ldua [2au-l Gyasll 58 aidlv s2dl A ?
ol : 3 [Sed#12
21, aReldR-l Aol Ful ¢ &9 cul sl HlER 2dg &9 ?
yauol : [FA4-442 Heled
22.  RTE-2009 3¢ 51¢5 215 quonu [Qeualli-ll «va1100 &. dl s2au [Qasl 1o ¢ ?
ydiel : 4
23, ‘ods Qoust’ als wellg Hlew Ad-uniell sy 7
walol : slousy yuHle?
24.  RTE {ddla oyas-d wRs (e 21+ w-lds $730d 56 san dsu uldoilda ¢9 ?
AU : $AH-1T
25, GURAyg AUy U wud’ auHid]l daudi ey ¢9 ?
yalol : YsslulAue
26.  AHAUYIRY A HER $Y [Aun iy el ?
YO : AALYIREL A1 YR1 UIUR HAUYLL &S,
27. RTE 54428 ¥eq.....
walor : s16 ug [Aas vl eyaq 530 ase 8.
28.  Ad [ 2ultiant viadia usildd ag Yuiua ‘suqalsa’u q@lodg yo1 sy e ?
Ul : T I T GO
29. Demi-official letter 22d
e : x14u512] uat
30.  TDS - idsdu A A1y Y3 uH g'e9 ?
¥diél : Tax deducted atsource
31, Apysun HyAa Yoo urd5] xied g ?
auol : 514 5340l £2 $24.
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32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

5.2.0.dl., wiaH] giouadl, via Qe sidsy A4 U5 s s34 s1dd=140 »ud ¢ ?
waus : SSA

ARl Az’ Ay 124 W3] el eudl Asiddl & ?

yal : [A2d: [Qaw

wealds [Qawn id=ls20 w1 yrudHl s1d $¢6 Ay HHGH Y ?

416 : RMSA

w1y 5304 seaus sulenld [QeaizHl walds suomiyi [Qasi-lQendlzi-dl siod, [Ralfdar asiaaq 56
[Rizey (dloru) xua4ied ?

¥alel : BACALS

S1d 4l. 1 Huda wHdl s~ sea g [Qenasd] vlws 2uuasl 2ud ¢9 ?
¥diel 2000

naldHiu ue, 4ol uglm, eieidl [Q012 su1 usey 5 xultior4 el aguddl 9 ?
yauol : usil 2G4

[Qeucly dlmi 2a90 dyuHl Ya [Qenellu adld sedl 254 ysauni »ud ¢ ?

waLol : 50,000
A2 U4l sy aulds yw=udHl Qagad=d sidkdq deanil g1 ul@s ag el ?
YL : YA~

cuasi-ll [Quaar: daldis Rilg naal, aHlan sra dHy agn vtaun saun el [AlAY uisayzasiviedl
518+ [o{g 214l GCERT g121 $4l 519454 Q18 4ydd ?

¥dlel : GAP-5

14y [endlloiu culsacad egulRHly v-qal............... Ao YwyAaH] AHd & ?
KU : AAHIRU

walAs suousHi [Qas) 214 Yoo [asi- [alh a4d ayHi 4y sedl 2210 5341 Juidl Al 1A & 7
Falol 1300

o R, quonHi 2 2udl Asdl ouasl we [Qag cuaza ¢ ?

yaue : dslEus auon

YwRudHl ‘g [Raidl suonl’ su1 vildl Ssa ud ¢9 7

YA, : AHIY-5CUR vilg 2 e nld [Asia vug o yas Hi-d

Ad#iell (a5l s aaal dlefl 21910470 g2etdy sul sl asiy ?

e : aldu o5

swalas (e «1f8Aay - 1947 A 58 sa4 viadid adlad] x1(8513) Arudas avua ¢ ?
¥l : 37

smalds auou-u [asi s aral-ll Ao su Risyaui s3q ¢ ?

yauo : [QIsya 413

auon sl 4doudl Yeus, Hdold YEus-l 4 6 USIR1 541 8 ?

YOl : RAUHS A AU YEAU51
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49.

50.

51.

52.

53.

54.

5S.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

aid. YuarHAlsll srusnaell [RfA vada elsdl Garan 51056l wé wlddl Haaar s¢ duuge sdlls
sal?

¥alol : www.cmkanyanidhi.org.in

i, Yol srusnasll [Rl8 viaola S-e:daa Ml Mo 4 Ags HAq-uR s~ sea 3
AU HINUH 41 €9 7

waue :35,00,000/-

o4l it [Qenslll Lt 2ud d w1 (a3 g s:g AEA ?

walol : [Auadeg u Ay Uy 8lg A,

dalyn s1di Al Gesey-ul - ¥ed ...

ol : AU A3¥A 2198071 ey YA U €.

“Ued, wlSal, Al 4 52 dl............... YL €& AR’ WHWH Ml Seal Hsiddll did $34¢9 7
¥aus : 11

[aami3-H 4w g e ?

wadlo] : 83, 8w, 81

saqll-d o (-gdla ulsa a9l di (a9 214 a1y R Ao ya sl ?
YU : Ml

auouni vld quetal o [Qeuslll e visi ool el a3 53 6. 2 s U1y AU sl asiy ?
yauol : Ay 24G14m

ddl [RHdal [Qas RQagsid a3 sdaluddi..........

yauer : [Genelll e 2icdfladl saadl 7.

Suns QUM Q4R suR dllvi €9 ?

yae] : wuR d uld dlvig el dlvias ¢.

Higeutu [Qagmied] syl 8q iy aa ¢ ?

yauel : [Adanicns Ridan

P52yl 2udal wluiql- GRA s7Hl 2dsdl.

(1) #ldl vis=Alsew (2) e quin (3) adllsew (4) g AU
wdlel:4,1,3,2

usu 24lE1a171 2aola PAas aulda’ gaui sa 42+ e1eidl-l Guaion squ-i 4ol ?
VETIZRS |

ADEPTS (sw) #i ¢ seau [Quu-i (a5 [y searugla ¢ ?

yaiel : 80

a#iRe [Auan Baics Haig- wie Al udau uedl-u 54 & 2uaqd ?
YU : AR &

$¢ wiyuesld [Q24a g-unl uyH q4ud ¢ 7

waue : 9glnR

W’ Al HEUH HIS vt Gualoll Gus:@ 9 ?

wael : Q Hie
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66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

15,24, 35,48, .cccoe2eerunry 80. - 2] 2018 @ 80HI w218 01 g 211 ?
yau : 63

Miail, dsd-ll Hidl €9 2+ 4oLl o1 &9, (A2, el €153 &9 1 4loleL Az it ML . dl Sd, [
ol Aol ey ?

aalel : HiflusS e

|l 4] o° 25 qHaq & waud eyl 2usiell »lsa s34 ¢, A altdl cug 2ud al Gudl

audlyl g 2ud ?
wael : 3 2usl
Azl Wl 4ol i se Gur yd leaunio [54] vial 2uden #le? nu e, cuiell woll ouy avfla 54 ¥a?

yuell auq wel nu €9, awadll ulay aoll 6 4] g2 2udean s 2+ usid €9, ¢d A4 ¥ d- ula 42
yslag &9 di $24 a wq usd ?

el : 5 (34

A9 g2dlal »195420 [AlRe, 25 [AlA2 217130 [l Yd? ol ¢, 9 280 d2dl2l 28] e 41?5:30
ol auoll 84 dl 53 wiedl iseud sean vl awoel ?

waol : 42 10:30 dLol

cugyfl 2ugldsi deriz -l deuss v+ uslousy vHws:3 6, deusus 214 ugloud-u

3 AR MU S &9, dl A Sl AR WA ?

yalel 26

‘DICTIONARY’ /el Afl=d-uniell sul aoe ei-udl a5 ~l8 ?
qi6 : TRADE

TXGM : WWIL: : DGMP:....... 2 eeeeees

¥aisl : GFPO

A 2uda AR 25l U5l 56 2usld gl ud ¢ ?
o
o]

A 2uda AR 25l U5l 56 2usld gl ud ¢ ?

yalel :

yalel :
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76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

[deuor -2

J139+\33 7390 d ugaudeq i’
o : 12

3 a5 Yrel g6 544 3350 2145 a4 243 Yredl $6 544 2650 i & dl 215 4 2+ 2is Ue]
[Fanl wraual s2al ?

ol :3 750

AN 518 6] vl 24RUS1R320 €9, ¥ QAL . 80 271 9 AL . 4 €9 dl vl 58 7

>l 2 16 2120

45 ousi-l Liya sedl w7 $ 2 Glaue 7 d.Hl. 214 450550 aq . 4l ay &.

a5 4.4,

A5 dorgn eis]2 Hler aiell, 1 Hler ysioll 21-150 d.4. Gludl &9 dui sean [aee well a1 ?
wale : 1000 [ae?

10 305l 4815 (X ) =32 2171 Heue (M) =33 €9 dl vigds (Z) seél iy ?
ydlel 2 35

- o9l 4t 2ugla-l ew 52 A4 U5 iy Qe ikl

ey : AU ANB={3,8,15}

p
A M B
) 550 i
C N D
o

—> > «—>
Gurl 2uglani AB||CD 4 PQ &lesi 5354 M 21N Hi 9 9. A L AMN =55° &l dl {141 4]
sl ldsey aual &9 7
¥alel : £ BMN = £ MNC yousioidl s 213 ¢9 24 d HIu125° a4 69.

o4l 18 [l GG 215 ats o3 yHlvells Hlez-l Qe iall gl us €9, qéal et e9el usal -4l
drll el ol Gur asell 12 12z g 2135 €9, dl 2 ars- s+l Glues s2fl ?

o : 18 Hle?
1.331 Janyn seq auy ?
yale 1.1

HTAT - 2014 - FINAL ANSWER KEY 6 [Contd.



86.

87.

88.

89.

90.

91.

92.

93.

9.

95.

96.

97.

98.

99.

100.

— .

A ABC H[AB =AC 8. BC D y4l douadi sidl sifdvs19t LACD =110° dl LA g Hiu 524 ?

ol : 40°
yQus dvauivl o s4l &9 ?
yuol : 7.

1R AU FHUIGHI10% 8218l A, R 270 i HA 1 [Fauw oo ay 4ol dl 4o euq a4l

odloel 03T 30
€5 ARA X, ........
yaloel : 2l saldd A1Llu ¢9.

2 N )
15 Al [GR14] dvau-l] cuza vl ¢ ?

yalo : _é
"5

What time is it ? 10:15

yalot : It is quarter past ten

Change into passive voice : “She was cooking food in kitchen.”
¥dlél : Food was being cooked in kitchen by her

Change into Indirect Narration : - The teacher said, “The earth is round.”
¥dlél : The teacher said that the earth is round.

Choose the correct sentence.

diél : The Republic day was celebrated by us.

If he does his home work in time, he ...............

als : will not be punished

Before the doctor went to the hospital, the patient ...............
¥di4 : had died

Deficit 201l [A3e4uell s1og -1+ Usg) sul &9 ?

Aty : surplus

Archaic ¢g- synonym (Yai4) 916g 14 U5] s4i &9 ?

¥dlol: outdated

Decide which sentence is the most preferable with all respect.
dlél : She is a model and an artist

Rearrange the part to produce the correct sentence : ‘The broker said that ..........
P : aperson

Q : should shop carefully

R : who buys a house

S : for the lowest interest rate

¥ : P, R, Q, S

HTAT - 2014 - FINAL ANSWER KEY 7

P.T.O.



101. Form a meaningful word using the numbers given below the alphabets.
VERETUL C
1 23 4 56

>al4:6,5,4,1,2,3
102. Few and far between means ..........
Ydlol :rare
103. Do not disturb the class. (Select passive voice)
dlol : Let the class not be disturbed
104. Ars?y (S) uell w1l »dwui sul §oe quaA &9 ?
¥dlel : Swan
105.  ““edl+tl e, 2=l [QAs12” Qusa-il G 24¢y $ Mg £l 1A Us) aumi uore an €9 ?
¥dlél : Get the co-operation from all and be developed or make it possible for others.
106.  yedl wiaidl s1eulis 42l Guz - [Ayaga Gur sausu seal aidlerl 5sd 4s 45 Y93 ¢9 7
a1 : 1670
107, 2ulesiqi-u quaie- yuql 4 451 sa 2adefl o ¢ ?
yaueq : gL vilodl elluoiesi-l ysiiniel
108. 3udl dzgld-u v1qanl Guzell vid Al 1912 214 dif a0 calag sy Asg iy 1l
yale : gAH4YR — slRusu
109. [Buiay-ll ydarionsi suder - [ivRiq d4-l Glaug-u Agqar sH¥4l vAlsdi :
"giedl, sdlue, G2 Hadee, siu1%uU
waoy : sl Heiedl, sia%ou, G2 Adee
110.  A12-u 03] $¢ 1€l o4ou <€l Had] -1efl ?
waU : 4o
1. [Qaql 2ial s4l vis ¢ vuidl 591, [Ayadd 1 Hsga uaR d ¢ ?
yaus] : 2551
12wy, [Aoslw 24 ngeuaa uea-dl artu-d sqa: s6§¢9 ?
yaol : §¥516, 2SN, 211912
113, 2ulesisiaudg vain su1 a0 4y sg' ?
oLt : $8121¢
4. AruAMIY [duo~ su i ¢ ?
yaue : 54134 Al8
115. sul a6 oflon us 5240 Gl [Beuni $3 ¢9 7
waue : Y
116. 233Ul 2Ails491 Wit s2a1 iy salde a1 s4l Glus qualy 9 ?
yauol : 4oillos s1dlses
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A

17. A4 U4 $¢ dug 1rM sld & 5 ¥y ad spll asiu 9 ?
auol : AllSuH
118.  Ysdirt (Rickets) il 2001 sdt (214l Garyell auu &9 ?
walo : [Aeidl+ D
119.  Aduxill a-u g [y salyi yeiyer 2o [QA4d »ud ¢ ?
yauol : sl
120. 215 da¥ad 2l 04 20 4.4, 2d? aeg 4sdl . dell 1 ulaleior 24+ azg q22dq 2R s24 ?
wauel : 40 4.4,
121. 9 slaa siawi usia-u Seog ulse/ad d surd g 53¢ ?
ol : 23l AR
122, deq 312524 (P) 1l HulHscl H1E g 1y &9 7
(1) dAY5d3 9.  (2) AUUsdl5 &.
yael : (1) 24+ (2) ¢l A1l €9.
123, ~y2i+ sa-l iy 519l 3 dl ?
yauol : Asdls
124. 4[24 2 fld-u U4) g Gers ¢9 ?
yauol : Al ysyell
125. @usHilSuH su1 45129 :AU5125 &9 7
¥l : YW
126. usu decd dyo=udl [Aua wie sul o1 1585] ada ¢9 ?
yauol : Ylai
127, Alduniedl sy Asg 0y el
ol : N2 ¥ (82 dl} woud — lswuq ledlCu
128. 54 Asg dloy 1ell.
ol : g1 Gyon agx — ouYle
129.  “USHd-ll #luw’ - sicum sld sl ed ?
YU : UL £
130. e s1cul sl gl a1 €9 ?
yauel : 4, Al 4l
131, “aler [Q-u il $a1R, Hid (G-t 41l dAA1R...” 20 WlSanl auudd A5 ysudl.
yall : ERId
132 ‘wdd’ avg-l yaly ikl
yUL : Gy
133.  o=udl a8l udel Auldeu 3512 % dega MurmuHid] sl ¢.......
waoL : SSIcY
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134, AlA-usiel] sul 415 aly iy ¢ ?
o : 9

135. ¢ al yeg' 5 wireul Wledlai Qa-2o1auofl 2u Aadl siel w8l 77 - wlsaqu 2aulddr sloe9 ?
YU YERH

136. 13= 9T & wrcAgEe W o7 faaaes go 7@ A § 4 e
Yol : TTT TA H GoTHY TIFRRT H T |

137. foAT &t Sy @ @i e & 7
yalY : JF

138. BT ¥ 5 717 9T (AT & 3T 3STTUT @ B W UISTYEAE § 7T 397 7T & 7
YUY, : TTETT T5T

139. @i &1 i 9q=<Si &t 7e & ?
xdlol : giv

140. ‘377 TR g7 & @I ST 3@ H 9 & G - T & AP -
yauol : gIrat

141. Q44 3T & THA: 7
YU : GSATTRITATTTH

142, ‘TTT: ' $TSRET QA AR -
yUoL : IR

143, A&du#iell 0y ausa alyl :
Yl : ATHUSTAT 79

144. wgel TwaaT A9aq |
wquol : IO

145. Gepaumarary forag - ‘Ul 4l Hlcil HleR sudg ¢9.
YL : TSR TETATHI<TH ST |

146. $+w2? g adl uedl d-i Refresh s2at #1E 5l oils" Gur-l ¢ Sl Gualo 5290 ?
¥l : F5

147. [QalQvaa il vsuld’s Qo A4 15 ez 56 ys10040 2udg €9 ?
yalol : Ayl

148.  2olla urie atd- ‘elus 2091 oudl de et aH1 52U ‘Ali-3A sa 12l aall ¢dl ?
XU : d3719UR

149. A 24l A4l ucds 2sH0 (4 Riaa) 281 viawslzi-l v Acal s4H1Alsal.
1) 548l ) wi-wil (3) dldlolla  (4) cuesesid
yaoL:4-3-1-2
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150. HANHAU YRS acgi-u A1 A5t 2Alsdl.

1. $45] P. $5
2. ui-ul Q. 44
3. [35¢ R. ool
4. aldlola S. ¥
T. es52uél

¥q160:1-T, 2-P, 3-R, 4-Q
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